Opérations avec deux fractions mixtes (B)

Nom: Date:
Calculez chaque résultat.
1 1137><Sg=—><—= — = —
2 5%+2E =—Ft—=—+—= — =
3 6

3 5%—2— = — = — - = — =
4 5%+2§=———=—x—= — =
5. 5;—31—3‘:———:———: — =
6 5§+1§ = —+ t—=—+— = — =
7 Sg+1§ = — t—=—+— = — =
8 23—5— = —F— = —X— = — =
9. 5%—31—2=———=—><—= — =
10. 51—2—5§=———=———= —

Note:

MathsLibres.com




Opérations avec deux fractions mixtes (B) Réponses

Nom: Date: Note:

Calculez chaque résultat.
5 8 22 53 1166 95
PAgXSs = 13%9 = 133 = 133
2 3 17 15 34 15 49

23t =St T ete T 5 T %
43 9 43 18 25

YT T T3 TR TR T % T %%

Loslop 316 41 16 14 224 _ 101

37714 3 14 3 741 123 123

. 5o _,1 _38 53 _76 53 _ 23 _ .9

7 14 7 14 14 14 14 14
2 2 17 11 51 11 62

— 1—- = — — = — = — = —

o 3tlg =3ty =39ty 9 6
7 2 52 5 52 15 67

ngtly =gty =gty = 5 =7

. 25.52 _23,22_23)(4_ 92 46

9 "4 9 4 9 722 198 99

951.310_16.61_16 17_272_189

37717 3 17 3 761 183 183
o s 3 _93_43_ 93 86 _ 7
16 8 16 8 16 16 16
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